



Republic of the Philippines **VISAYAS STATE UNIVERSITY** Visca, Baybay City, Leyte

PURCHASE REQUEST

Dept./Office: RERC

PR #: **GF-2020-10-00029** 1035

Date: 10-13-2020

Section/End-User: SUSANA B. MIÑOZA

Category: Hardwares

Funding Source: General Fund - MOOE

Project Title/Code: CC16-RE.01.1718

#	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost		
1	Cap Screw, 1/4" x 1-1/2" with nut,	piece	200	2.00		400.00		
	Specification:							
	Medium-Strength Grade 5 Steel Square Head Screw, 1/4"-20 Thread Size, 1-1/2" Long, Fully Threaded							
2	Cap Screw, 1/4" x 1" with nut, NC	piece	180	2.00		360.00		
	Specification:							
	Medium-Strength Grade 5 Steel Square Head Screw, 1/4"-20 Thread Size, 1" Long, Fully Threaded							
3	Cap Screw, 3/8" x 1-1/2" with nut, NC	piece	175	4.00		700.00		
	Specification:							
	Medium-Strength Grade 5 Steel Square Head Screw, 3/8"-16 Thread Size, 1-1/2" Long, Fully Threaded							
4	Cap Screw, 5/16" x 1-1/2" with nut, NC	piece	150	3.00		450.00		
	Specification:							
,	Medium-Strength Grade 5 Steel Square Head Screw, 5/16"-18 Thread Size, 1-1/2" Long, Fully Threaded							
5	Cap Screw, 1/4" x 3/4" with nut, NC	piece	150	2.00		300.00		
	Specification:							
	Medium-Strength Grade 5 Steel Square Head Screw, 1/4"-20 Thread Size, 3/4" Long, Fully Threaded							
6	Cap Screw, 3/8" x 1" with nut, NC	piece	200	3.00		600.00		
	Specification:							
	Medium-Strength Grade 5 Steel Square	Head Scre	ew, 3/8"-16 T	hread Size, 1" Long, Fully	Threaded			
7	Cap Screw, 5/16" x 1" with nut, NC	piece	200	2,00				
1						400.00		
	Specification: Medium-Strength @rade 5 Steel Square		ew, 5/16"-18	Thread Size, 1" Long, Full	y Threaded	400.00		
8			ew, 5/16"-18 190	Thread Size, 1" Long, Full	y Threaded			
	Medium-Strength Grade 5 Steel Square	Head Scre			y Threaded			
	Medium-Strength Grade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC	Head Scre	190	3.00				
	Medium-Strength @rade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC Specification:	Head Scre	190	3.00				
8	Medium-Strength @rade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC Specification: Medium-Strength Grade 5 Steel Square	Head Scree	190 ew, 5/16"-18	3.00 Thread Size, 2" Long, Full		570.00		
8	Medium-Strength @rade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC Specification: Medium-Strength Grade 5 Steel Square Cement, (PVC) Solvent, 400cc/can	Head Scree	190 ew, 5/16"-18	3.00 Thread Size, 2" Long, Full		570.00		
8	Medium-Strength @rade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC Specification: Medium-Strength Grade 5 Steel Square Cement, (PVC) Solvent, 400cc/can Specification:	Head Scree	190 ew, 5/16"-18	3.00 Thread Size, 2" Long, Full		570.00 343.20		
8	Medium-Strength @rade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC Specification: Medium-Strength Grade 5 Steel Square Cement, (PVC) Solvent, 400cc/can Specification: Premium Quality	Head Screen	190 ew, 5/16"-18 12	3.00 Thread Size, 2" Long, Full 28.60		570.00 343.20		
8	Medium-Strength @rade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC Specification: Medium-Strength Grade 5 Steel Square Cement, (PVC) Solvent, 400cc/can Specification: Premium Quality Cement, Rubber (Rugby)	Head Screen	190 ew, 5/16"-18 12	3.00 Thread Size, 2" Long, Full 28.60		570.00		
9	Medium-Strength @rade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC Specification: Medium-Strength Grade 5 Steel Square Cement, (PVC) Solvent, 400cc/can Specification: Premium Quality Cement, Rubber (Rugby) Specification:	Head Screen	190 ew, 5/16"-18 12	3.00 Thread Size, 2" Long, Full 28.60		343.20 174.00		
8	Medium-Strength @rade 5 Steel Square Cap Screw, 5/16" x 2" with nut, NC Specification: Medium-Strength Grade 5 Steel Square Cement, (PVC) Solvent, 400cc/can Specification: Premium Quality Cement, Rubber (Rugby) Specification: Premium Quality	Head Screen Piece Head Screen Cans	190 ew, 5/16"-18 12 6	3.00 Thread Size, 2" Long, Full 28.60				

11	Good Quality	1 1			
14	Nylon Line (Monoline) #300 Specification:	kl	6	180.00	1,080.0
	Good Quality				
15		piece	6	85.00	540.0
	Specification:	piece		65.00	510.0
	Camel's hair, Good Quality				
16	Paint Brush, Lettering, 1/4"	piece	6	58.60	351.6
	Specification:	Picoo	Marian and Marian and American and American	00.00	331.0
	Camel's hair, Good Quality				
17	Paint Brush, Roller with handle and PVC Tray, 9"	piece	2	56.00	112.0
	Specification:				
	Durable, Good Quality				
18	Paint Brush, Roller with handle, 7"	piece	6	30.00	100.0
	Specification:	pioco		30.00	180.0
	Durable, Good Quality				
19	Paint Thinner, Lacquer	gallon	4	350.00	1,400.0
	Specification:				1,400.01
	Premium Quality				
20	Paint, Metal Primer, Red Oxide	gallon	6	350.00	2,100.0
	Specification:				
	Premium Quality				
21	Pipe Fittings, (G.I.) Coupling, 1"Ø	piece	12	12.75	153.0
	Specification:				
-	Schedule 40, Good Quality				
22	Pipe Fittings, (G.I.) Coupling, 1/2"Ø	piece	12	6.60	79.20
	Specification:				
23	Schedule 40, Good Quality				
23	Pipe Fittings, (G.I.) Coupling, 3/4"Ø Specification:	piece	12	14.00	168.00
	Schedule 40, Good Quality				
	Pipe Fittings, (G.I.) Elbow, 90 deg x				
24	3/4"Ø	piece	12	18.00	216.00
	Specification:	-			
	Schedule 40, Good Quality				
25	Pipe Fittings, (G.I.) Elbow, 90 deg x 1"Ø	piece	12	31.00	372.00
	Specification:				
	Schedule 40, Good Quality				
26	Pipe Fittings, (G.I.) Elbow, 90 deg x 1/2"Ø	piece	24	7.90	189.60
	Specification:				
	Schedule 40, Good Quality				
27	Pipe Fittings, (G.I.) Reducer Bushing, 1-1/2"Ø x 3/4"Ø	piece	12	25.45	305.40
	Specification:				
	Schedule 40, Good Quality				
28	Pipe Fittings, (G.I.) Reducer Bushing, 1"Ø x 1/2"Ø	meter	12	7.65	91.80
	Specification:				

	Schedule 40, Good Quality				
29	Busning, 1"Ø x 3/4"Ø	piece	12	13.00	156.0
185	Specification: Schedule 40, Good Quality				
30	and a second	piece	12	21.30	057.0
	Specification:	piood	12	21.30	255.60
	Schedule 40, Good Quality				
31	Pipe Fittings, (G.I.), Tee, 1- 1/2"Ø	piece	12	65.00	780.00
and and	Specification:			00.00	700.00
	Schedule 40, Good Quality				
32	Pipe Fittings, (G.I.), Tee, 3/4"Ø	piece	12	26.00	312.00
	Specification:	-!-			312.00
	Schedule 40, Good Quality				
33	Pipe Fittings, (G.I.), Union, 1-1/2"Ø	piece	12	68.30	819.60
	Specification:				0.000
to a second second second	Schedule 40, Good Quality				
34	Pipe Fittings, (G.I.), Union, 1-1/4"Ø	piece	12	51.50	618.00
	Specification:	- L	-		0.00
	Schedule 40, Good Quality				
35	Pipe Fittings, (G.I.), Union, 1"Ø	piece	12	65.00	780.00
	Specification:				7.00.00
la constitution of the con	Schedule 40, Good Quality				
36	Pipe Fittings, (G.I.), Union, 1/2"Ø	piece	12	21.49	257.88
	Specification:				
	Schedule 40, Good Quality				
37	Pipe Fittings, (G.I.), Union, 2"Ø	piece	12	101.90	1,222,80
	Specification:				
	Schedule 40, Good Quality				
38	Pipe Fittings, (G.I.), Union, 3/4"Ø	piece	12	30.60	367.20
	Specification:		The second section of the second section sections and the second section sections section sections section sec		001.20
	Schedule 40, Good Quality				
39	Pipe Fittings, (PVC) Ball Valve P, 1-1/2"Ø	piece	12	1,035.00	12,420.00
	Specification:				
	Heavy Duty, Good Quality				
40	Pipe Fittings, (PVC) Ball Valve P, 2"Ø	piece	12	1,300.00	15,600.00
	Specification:				
-	Heavy Duty, Good Quality				
41	Pipe Fittings, (PVC) Ball Valve P, 3/4"Ø	piece	12	500.00	6,000.00
	Specification:				
	Heavy Duty, Good Quality				
42	Pipe Fittings, (PVC) Elbow, 45 deg x 1-1/2"Ø	piece	12	194.00	2,328.00
	Specification:				
	Heavy Duty, Good Quality				
43	Pipe Fittings, (PVC) Elbow, 45 deg x 1/2"Ø	piece	12	50.00	600.00

'					
	Specification:				
	Heavy Duty, Good Quality				
44	Pipe Fittings, (PVC) Elbow, 45 deg x 2"Ø	piece	12	295.00	3,540.00
	Specification:				
	Heavy Duty, Good Quality				
45	Pipe Fittings, (PVC) Elbow, 45 deg x 3/4"	piece	12	70.00	840.00
	Specification:				
	Heavy Duty, Good Quality				
46	Pipe Fittings, (PVC) Elbow, 90 deg x 1-1/2"Ø	piece	12	155.00	1,860.00
	Specification:				
	Heavy Duty, Good Quality				
47	Pipe Fittings, (PVC) Elbow, 90 deg x 1/2"Ø	piece	12	40.00	480.00
	Specification:				
	Heavy Duty, Good Quality				
48	Pipe Fittings, (PVC) Elbow, 90 deg x 2"Ø	piece	12	230.00	2,760.00
	Specification:				
	Heavy Duty, Good Quality				
49	Pipe Fittings, (PVC) Elbow, 90 deg x 3/4"Ø	piece	12	58.00	696.00
	Specification:				
	Heavy Duty, Good Quality				
50	Pipe Fittings, (PVC) Gate Valve, 1/2"Ø	piece	12	285.00	3,420.00
	Specification:				
No. of Contract of	Heavy Duty, Good Quality				
51	Pipe Fittings, (PVC) Tee 1-1/2"Ø	piece	12	180.00	2,160.00
	Specification:				
	Heavy Duty, Good Quality				
52	Pipe Fittings, (PVC) Tee, 1/2"Ø	piece	12	50.00	600.00
	Specification:	1			000.00
	Heavy Duty, Good Quality				
53	Pipe Fittings, (PVC) Tee, 3/4"Ø	piece	12	70.00	840.00
	Specification:				0.0.00
	Heavy Duty, Good Quality				
54	Pipe Fittings, (PVC) Union, 1 1/2"Ø	piece	12	300.00	3,600.00
	Specification:				3,000.00
	Heavy Duty, Good Quality				
55	Pipe Fittings, (PVC) Union, 1/2"Ø	piece	12	120.00	1,440.00
	Specification:	***************************************			1,770.00
	Heavy Duty, Good Quality				
6	Pipe Fittings, (PVC) Union, 2"Ø	piece	12	450.00	5,400.00
-	Specification:		- 1	100.00	5,400.00
	Heavy Duty, Good Quality				
7	Pipe Fittings, (PVC) Union, 3/4"Ø	piece	12	146.00	4.750.00
	Specification:	,		. 10.00	1,752.00
	Heavy Duty, Good Quality				
8	Pipe, (G.I.), 1"Ø x 20"	length	6	380.00	
		.ongui	0	300.00	2,280.00

	Specification:								
	Schedule 40, Good Quality								
59	Pipe, (G.I.), 1/2"Ø x 20'	length	6	218.00		1,308.00			
	Specification:								
	Schedule 40, Good Quality								
60	Pipe, (G.I.), 2"Ø x 20'	length	6	840.00		5,040.00			
	Specification:								
	Schedule 40, Good Quality								
61	Pipe, (G.I.), 3/4"Ø x 20'	length	6	295.00		1,770.00			
	Specification: Schedule 40, Good Quality								
62	Pipe, (PVC), 1/2" x 20"	length	12	58.00		696.00			
02	Specification:	lengui	12	36.00		1 090.00			
	Sched 40, Durable, Good Quality								
63	Pipe, (PVC), 3/4" x 20"	length	12	75.00		900.00			
	Specification:	liong		70.00		300.00			
	Sched 40, Durable, Good Quality								
64	Screw, Wood, Gauge 5 x 3/4"	piece	25	5.00		125.00			
min America 21 a	Specification:								
	Cross head stainless steel, Self drilling	vood screv	W						
65	Set Screw, 1/4" x 1", UNC	piece	57	15.00		855.00			
	Specification:								
	Alloy Steel Cup-Point Set Screw, Black	Oxide, 1/2	"-13 Thread,	1" Long					
66	Sheets, (G.I.) Plain, Gauge 16 (1.613mm) x 8'	sheet	6	2,200.00		13,200.00			
	Specification:								
	Standard, Good Quality								
67	Stovebolt & Nut, 3/16 x 11, 100pcs/box	box	4	29.00		116.00			
68	Teflon Tape, 3/4"Ø x 10m	roll	12	60.00		720.00			
	Specification:			No. No. 1					
60	Good for sealing on pipe thread								
69	Washer, Plain, 3/8"Ø Specification:	piece	36	5.00		180.00			
	Cast Iron Material Housing, Corrosion R 25'	esistant, S	Self-Priming P	ump, Discharge Pipe Siz	e: 3", Height: 17.5", Maxin	num Discharge:			
70	Washer, Plain, 5/16"Ø	piece	30	5.00		150.00			
	Weighing Scale, Top Loading Dial Scale, (10 kg)	piece unit	30 1	5.00 700.00	SUSANA B. MIÑOZA	150.00 700.00			
	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification:	unit	1	700.00	SUSANA B. MIÑOZA				
	Weighing Scale, Top Loading Dial Scale, (10 kg)	unit	1	700.00	SUSANA B. MIÑOZA				
	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification:	unit	1	700.00	SUSANA B. MIÑOZA	700,00			
71	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification: Hi-strength plate top loading, Spring load TOTAL	unit ded Dial S	1 cale, Durable	700.00 , Good Quality		700.00 113,260.88			
71 Pur	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification: Hi-strength plate top loading, Spring load TOTAL pose: For the continued implementation	unit ded Dial S	1 cale, Durable	, Good Quality nulic RAM Pump Develo	opment and Automation f	700.00			
71 Pur	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification: Hi-strength plate top loading, Spring load TOTAL	unit ded Dial S	1 cale, Durable	700.00 , Good Quality	opment and Automation f	700.00 113,260.88			
71 Pur	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification: Hi-strength plate top loading, Spring load TOTAL pose: For the continued implementation ocked by:	unit ded Dial S	1 cale, Durable	, Good Quality nulic RAM Pump Develo	opment and Automation f	700.00 113,260.88			
71 Pur	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification: Hi-strength plate top loading, Spring load TOTAL pose: For the continued implementation ocked by: RAMIL B. VINCULÁ	unit ded Dial S	1 cale, Durable	, Good Quality ulic RAM Pump Develo	ppment and Automation f	700.00 113,260.88 for Small Irrigation			
Pur	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification: Hi-strength plate top loading, Spring load TOTAL pose: For the continued implementation ocked by: RAMIL B. VINCULA TWG - Hardwares	unit led Dial S	ale, Durable	, Good Quality ulic RAM Pump Develo	myrna s. Pancito HEAD, BUDGET OFFICI	700.00 113,260.88 for Small Irrigation			
71 Pur _l	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification: Hi-strength plate top loading, Spring load TOTAL pose: For the continued implementation cked by: RAMIL B. VINCULA TWG - Hardwares Requested by:	unit led Dial S	1 cale, Durable	, Good Quality ulic RAM Pump Develo	ppment and Automation f	700,00 113,260.88 for Small Irrigation			
71 Purp	Weighing Scale, Top Loading Dial Scale, (10 kg) Specification: Hi-strength plate top loading, Spring load TOTAL pose: For the continued implementation ocked by: RAMIL B. VINCULA TWG - Hardwares	unit led Dial S	cale, Durable oject " Hydra	, Good Quality ulic RAM Pump Develo	myrna s. Pancito HEAD, BUDGET OFFICI	700,00 113,260.88 for Small Irrigation			